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MARKS:  150

TIME:  2½   hours

This question paper consists of 12 pages 

INSTRUCTIONS AND INFORMATION

	Read the following instructions carefully before answering the questions.
	
	


	1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

11.
	Answer ALL the questions.

Write ALL the answers in your ANSWER BOOK.

Start EACH question at the top of a NEW page.

Number the answers correctly according to the numbering system used in 

this question paper.

Present your answers according to the instructions of each question.

ALL drawings should be done in pencil and labelled in blue or black ink.

Only draw diagrams and flow charts when asked to do so.

The diagrams in this question paper are not all drawn to scale.

Do NOT use graph paper.

Non-programmable calculators, protractors and compasses may be used. 

Write neatly and legibly.


	
	


SECTION A
QUESTION 1
1.1 Various options are given as possible answers to the following questions.  Choose 
the correct answer and write only the letter (A to D) next to the question number (1.1.1 to 1.1.7) in your ANSWER BOOK, for example 1.1.8  D.

1.1.1. Which of the following produce antibodies?
A     Blood plasma

B     Lymphocytes

C     Macrophages

D     Red blood cells
1.1.2. In which of the following plant groups do male gametes depend on water/moisture to swim towards the ovum?
A     Pteridophytes and gymnosperms

B     Pteridophytes and angiosperms

C     Bryophytes and pteridophytes

D     Bryophytes and gymnosperms
1.1.3. The following are involved in the process of cellular respiration:
1. Energy

2. Carbohydrates

3. Carbon dioxide

4. Water

5. Oxygen

Which ONE of the following equations correctly represents their involvement in the process of cellular respiration?
A     2 + 3 = 1 + 4 + 5

B     2 + 4 = 1 + 3 + 5

C     1 + 2 = 3 + 4 + 5

D     2 + 5 = 1 + 3 + 4

1.1.4. The following structure helps with enlarging the surface area that helps with absorption:
A     Portal vein.

B     Villus.

C     Goblet cell.

D     Lumen.
1.1.5. The macronutrient that forms part of the ATP molecule, is …
A     phosphor.

B     calcium.

C     potassium.

D     iron.
1.1.6. The common name for Rhizopus is:
A     Penicillin.

B     Malaria.

C     Bread mould.

D     Mushrooms.

1.1.7. Conifers are examples of:
A     Angiosperms.

B     Gymnosperms.

C     Bryophytes.

D     Pteridophytes.










                   (7 X 2)
     (14)
1.2.
Give the correct biological term for each of the following descriptions.  

Write only the term next to the question number (1.2.1 to 1.2.7) in your ANSWER BOOK.

1.2.1. The period between the infection of a disease and development of the antibodies.
1.2.2. The transfer of ripe pollen from a ripe anther to a receptive ripe stigma.

1.2.3. Concentration of nervous tissue and sense organs at the anterior end of an organism.

1.2.4. An organism that carries a disease without being affected by it.
1.2.5. Process where food is chewed and mixed with saliva.
1.2.6. The acid that accumulates in muscle fibers under anaerobic conditions during strenuous exercise.

1.2.7. Formation of ATP from ADP during the light phase of photosynthesis.
       (7)

1.3.
Indicate whether each of the statements in COLUMN I, applies to A only, B only, Both A and B or NONE of the items in COLUMN II.  Write only A, B, BOTH or NONE next to the corresponding number in your answer book. e.g.  1.3.7 BOTH

	COLUMN I
	COLUMN II

	1.3.1. Porifera
	A   Through gut

B   Nematocysts

	1.3.2. Organisms that can occur as autotrophs, saprophytes or parasites
	A   Viruses

B   Bacteria

	1.3.3. Factors that increase the rate of photosynthesis
	A   High concentrations of CO2
B   Temperatures above 30oC

	1.3.4. Root-like structures in moss plants
	A   Thallus

B   Rhizoids

	1.3.5. Dominant generation in ferns
	A   Gametophyte

B   Prothallus

	1.3.6. Bilateral symmetry

	A   Platyhelminthes
B   Porifera


(6X2)    (12)

1.4
Study the diagram of the human alimentary canal below and answer the questions that follow.
[image: image1.png]



1.4.1
Give the letter of ONE structure involved with each of the following functions:

(a)
Prevents choking








(1)


(b)
Peristalsis









(1)


(c)
Secretes pepsin








(1)


(d)
Stores bile









(1)
1.4.2
State THREE functions of the part labelled G.





(3)
1.4.3
Digestion is an important part of our nutrition. What is the difference between mechanical and chemical digestion?






(2)

1.4.4
Name two functions of the tongue in digestion.





(2)
 (11)
1.5
Study the diagram about Angiosperms and answer the questions that follow:

1.5.1
Name the parts numbered 4 and 7.






(2)

1.5.2
Name ONE function for each of the parts numbered 8 and 9, respectively.

(2)

1.5.3
Identify the numbers of the parts where the following processes take place:

(a)
Pollination









(1)


(b)
Fertilisation









(1)














(6)








         TOTAL QUESTION 1:
50
TOTAL SECTION A:
[50]
SECTION B

QUESTION 2

The diagram below represents the apparatus which was used in an investigation.

After a period of 24 hours red hydrogen carbonate indicator was added to each test tube.


HINT: Hydrogen carbonate indicator is used to show the changes in carbon dioxide 


concentration as follows:

· It turns from red to purple when the CO2 level decreases.

· It turns from red to yellow when the CO2 level increases.
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2.1.1
Suggest ONE aim for this investigation.






(2)

2.1.2
What is the purpose of test tube A?






(2)

2.1.3
Why were the test tubes kept in the dark?





(2)

2.1.4
Tabulate the results after 24 hours that will be observed in test tubes A, B and C.
(4)

2.1.5
List TWO ways in which the process taking place in test tube C is biologically

important.










(2)













        (12)

2.2.
More than 1.5 million hectares of South Africa is covered by industrial tree plantations that provide wood for the pulp and paper industry.  The percentage of different tree species occurring in the plantations is shown in the table below.

	Species
	Percentage occurring in commercial plantations

	Pine
	50%

	Eucalyptus
	37%

	Black wattle
	8%

	Other species
	5%


2.2.1
Use the data given in the table above to draw a bar graph showing the percentage of different tree species occurring in the industrial tree plantations.


(7)

2.2.2
a)  To which major plant group do pine trees belong?




(1)


b)  Explain how pines are adapted to grow to such great heights.


(3)


c)  What is the size of the area of land in South Africa that is covered in pine 


     plantations?









(2)


d)  List the economic important products that are obtained from pine trees.

(3)













        (16)

2.3
Read the following information and answer the questions that follow. 
Pesticides: DDT and Dieldrin

Many years ago, mosquito-breeding areas were sprayed with pesticides like DDT and Dieldrin.  It was initially very effective against the mosquitoes.  However, scientists found that both DDT and Dieldrin were non-biodegradable and are toxic, causing much harm to the environment and other organisms.  These pesticides covered the sprayed plants, which were eaten by herbivores which in turn were eaten by carnivores.  When the rainwater washed the residues off the plants, they ended up in the water table.  The pesticides collected in rivers and other water masses, affecting the aquatic plant and animal life.  In 1972, the use of these pesticides was banned internationally.  The Department of Agriculture has instituted strict laws to ensure that only pesticides and herbicides that are approved are used to spray crops and to control mosquitoes.  These laws have been put in place to ensure that there are legal maximum residue limits for the concentrations of pesticides and herbicides.


                                                                  [Source: Sivlia education for the nation]
2.3.1
Name the mosquito that spreads malaria.





(1)

2.3.2
Why is DDT and Dieldrin no longer an effective way to control mosquito breeding areas?










(1)

2.3.3
Provide TWO reasons why DDT and Dieldrin were banned in 1972.


(2)

2.3.4
Suggest an alternative for the use of pesticides.




(1)

2.3.5
Mention any THREE strategies that can be followed to prevent mosquitoes from biting us, if we happen to be a visitor in a high-risk malaria area.


(3)
2.3.6
Give a brief outline of the lifecycle of the malaria parasite and how it is transmitted from one individual to another.







(4)












        (12)

         TOTAL QUESTION 2:
40
QUESTION 3

3.1
The diagram below shows the evolutionary relationships between animals.

[image: image3]
3.1.1
According to the diagram, name FOUR characteristics that annelids and flatworms have in common.









(4)

3.1.2
Identify the feature that evolved TWICE during the course of animal evolution.
(1)

3.1.3
The coelom was a major evolutionary advancement in animals.

a) Discuss TWO advantages of the coelom to animals that possess it.

(4)

b) Suggest ONE challenge that a coelom poses and mention how it has been overcome.









(2)
3.1.4
Describe the structure of the body plan of a diploblastic acoelomate animal.
(5)












        (16)
3.2.
The following diagrams show how cholera vaccine works in the human body.  Study it and then answer the following questions.

[image: image4]
3.2.1
What is a vaccine?








        
(1)

3.2.2
What is injected in to the human body as a vaccine?  (Diagram 1)


(1)

3.2.3
Briefly explain what is happening in diagram 2.





(4)
3.2.4
What happens when a person is exposed to cholera bacteria as shown in the diagram 4?










(2)

3.2.5
Name the type of immunity obtained through vaccination.



(1)

3.2.6
Suggest THREE strategies to prevent a cholera outbreak in rural villages                  of our country.









(3)












        (12)

3.3
Study the diagram below of a structure in the human digestive system.
[image: image5.png]



3.3.1
Which structure is represented here?






(1)
3.3.2
What is the main function of this structure?





(1)

3.3.3
Explain two reasons why this structure so is efficient.




(4)

3.3.4
Label structures 1 and 3.








(2)

3.3.5
Explain briefly the function of structure 2?





(2)

3.3.6
A high intake of alcohol can damage the liver.  Name two problems this damage   can cause to the general health of a person.





(2)
(12)
TOTAL QUESTION 3 :
   40

TOTAL SECTION B:
[80]
SECTION C

QUESTION 4

4.1 All living organisms is dependent on the process that takes place in plants to make energy usable.  Describe the process of photosynthesis from the time light is absorbed, until carbohydrates are formed.  Take note to mention both phases of the cycle.












Content:
        (17)










Synthesis:
          (3)












        (20)

Note: NO marks will be given to answers presented in the form of a flow chart
TOTAL SECTION C :
[20]
GRAND TOTAL:
150
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